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Sample Paper – 2009

Class – XII

Subject – Accountancy



M.M.80




PART A

Accounting for Not-for-Profit Organizations,Partnership Firms and Companies 
1. Wha
t is partnership Deed? Give three rules regarding interest on capital, interest on drawings and partner’s loan, if deed 

      is silent on these matters.










(1)

2. What is ‘Legacy’ in the context of NFPO? How it is treated in the books?

 



(1) 

3. State any two factors affecting the value of goodwill of a Partnership firm.





(1)

4. Distinguish between Sacrificing ratio and Gaining ratio 







(1)

5. What is FCD and PCD?











(1)

6. On the basis of the following information, Calculate the amount of Subscription to be shown in Income

 and Expenditure account for the year ended 31st December 2007.

Subscription Received during the year ended 31st Dec. 2007                 Rs.6,47,000.      

       

(3)

	Particulars
	Dec.31st 2006
	Dec.31st 2007

	Subscription Outstanding
	Rs.44,000
	Rs.85,000

	Subscription Received in advance
	Rs.11,000
	Rs.17,000


7.      Raghav Limited purchased a running business from Krishna Traders for a sum of Rs. 15,00,000, payable 

          Rs. 3,00,000 by cheque and for the balance issued 9%Debentures of Rs. 100 each at par. The assets and liabilities


consisted of the following: Plant & Machinery Rs. 4,00,000;Buildings Rs.6,00,000;Stock Rs.5,00,000;

         Sundry Debtors Rs.3,00,000;Sundry Creditors Rs.2,00,000.Record necessary journal entries in the books of company.     (3)

8.     National Chemicals Ltd. issued 5,000 shares of Rs.10 each at a premium of Rs.2 per share for public subscription,

          payable as Rs. 5 on Application and Rs.7 on Allotment including premium.

           Avdesh, who had applied for 250 shares (allotted shares 200) failed to pay the allotment money and his shares were 

          forfeited by the company.  Out of the forfeited shares, 100 shares were reissued to Bavesh as fully paid up for

          Rs. 8 each.  Record the transactions relating to the forfeiture and reissue of shares.                              [1+1+1]      (3)                          
9.        A, B and C are partners in a firm. They have omitted interest on capital @ 10% p.a. for three years ended 

    31st.March, 2007. Their fixed capitals on which interest was to be calculated throughout were: Their fixed capitals 

    on which interest was to be calculated throughout were: A- Rs. 1,00,000 ;  B- Rs. 80,000; C Rs. 70,000. 

    Give the necessary journal entries with working notes.     
 




           (4)     

10. X,Y and Z are partners sharing P&L in the ratio of 5:3:2 respectively. They decided to share future P&L in the ratio

of 2:3:5 w.e.f. January 1,2009.  They decided to record the effect of the following without effecting their book values:-

          (i) Profit & Loss a/C (Cr) Rs. 24,000;Reserve Rs.20,000;Advertisement Suspense A/C Rs.10,000;Goodwill Rs.30,000.

          You are required to give necessary adjustment entry. Show your working clearly as a part of your answer.                 (4)

11.  OK Ltd. forfeited 1,000 shares of Rs.100 each( Rs. 60 called up) issued at a discount of 10% to Ram on  which he had


 paid Rs.20 per share for the issue of  1,500 shares. Out of the forfeited shares, 750 shares were resold to Mayank

           as Rs. 80 paid up for Rs. 60 per share and remining 250 shares were resold at 10% premium as fully paid up shares.  


Pass necessary journal entries for the forfeiture & reissue of shares.               
              (4)
12-  (a)  On 31.3.2005 Janta Ltd. converted its Rs.88,00,000, 6% Debentures into equity shares of Rs.20 each at a premium 

        of Rs. 2 per share. Give necessary journal entries for the redemption of debentures. 

      (b)  On 1.4.2008 Z Ltd. issued 5,00,000  8% Debentures  of Rs.100 each at a discount of 6%  redeemable at a 

                 premium of  10% after fiver years. The amount was payable as follows:


        On application    –  Rs.50  per debenture.

                  On allotment      _   Balance after discount. 

              Record the necessary journal entries for the issue and allotment of debentures in the books of the company. [2+4] (6)

13.   The following is the Receipts and Payments A/C of Super Times Club for the year ended 31st.December,2008:         

	
Receipts

Liabilities
	Amount
	Expenditure
	Amount

	To Cash in hand

To Subscription:

  2007          Rs.    1,200

  2008          Rs.  64,800

  2009          Rs.      600

To Entrance Fees

To Proceeds from Sports Fund

To Interest on investments

To Sale of old Furniture

   (Cost Rs.320)
	10,000

66,600

2,600

8,100

2,000

200

[image: image1.png]
89,500
	By Bank Overdraft (1.1.2002)

By Furniture

By Salaries

By Stationery Expenses

By Sports Expenses

By Sundry Expenses

By cash & Bank


	14,000

5,000

20,000

    5,000

      9,000

20,000

   16,500

89,500


(a) On 1st.January,2008, the club premises stood at Rs.50,000; 10%Investments at Rs.20,000 and furniture Rs.1,200.

(b) The club has 700 members each paying an annual subscription of Rs.100.

(c) In 2007, 22 members have paid their subscription for 2008

(d) Rs.800 are still in arrears for the subscription of 2007.

(e) Stock of stationery 0n 31.12.2008, was Rs.300 and on 31.12.2008 was Rs.400.                      [3+2+1]
           (6)
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    14,     A and B are partners sharing profits and losses in the ratio 2:1. Their Balance sheet on 31.3.2006  was as follows:-

	Liabilities
	Amount(Rs)
	Assets
	Amount(Rs)

	Creditors
	10,000
	Stock
	20,000

	Bills Payable
	15,000
	Patents
	  2,000

	Reserve Fund

C’s Loan A/C
	12,000

10,000
	Debtors             40,000

Less. Provision     3,600
	36,400

	Capital:-    A
	40,000
	Building
	25,000

	                B
	30,000
	Machinery
	33,600

	             
	1,17,000
	
	1,17,000


 They admitted C into partnership for1/4th share on this date. C brings Proportionate capital 

 after the following adjustments:-

(i) C brings Rs.3,000 in cash as his share of goodwill. His loan will be treated as his capital.

(ii)  Provision for doubtful debts is to be reduced by Rs.2,400, 

(iii) There is an unrecorded old typewriter valued at Rs.7,600.  It is now to be recorded.

(iv)  Patents are found valueless.

Pass Journal entries and Prepare Capital accounts of the Partners.


     


   (6)

15.
Sony Textiles Ltd. invited applications for 50,000 shares @ Rs.10 at a discount of 10% payable as follows:-


On application---
Rs. 3; On allotment ---Rs. 4(excluding discount);    Balance on first & final call

Applications received for 45,000 shares and these were allotted. A to whom 300 shares were allotted failed to pay allotment money and Call money and B to whom 200 shares were allotted failed to pay the final call. These shares

 were forfeited and reissued at a Premium of Rs.12 per share fully paid. Give journal entries.
   

  (8)

                                                 OR

Maryne Ltd invited applications for 20,000 equity shares of Rs.20 each issued at a premium of Rs.5 per share. 

The amount was payable as follows:-

On Application and Allotment Rs.12 (including premium Rs.3); 

On First and final call – balance amount.

Applications for 35000 shares were received. Applications for 5000 shares were rejected. Shares were allotted to the remaining applicants on pro-rata basis as follows:-


Applicants for 20,000 shares were allotted 12,000 shares


Applicants for 10,000 shares were allotted 8,000 shares.

Rishi to whom 300 shares were allotted failed to pay the first and final call .He belongs to the class of shareholders who had applied for 20,000 shares. Rajhans who applied for 500 shares failed to pay the first and final call and he belonged to the category of shareholders who had applied for 10,000 shares. Their shares were forfeited and later reissued @ Rs.25 per share fully paid up. Pass Journal entries in the books of the company.                                                           (8)

16.
Fish, Goat and Hen are partners sharing profits in the ratio of 5:3:2 respectively. Balance Sheet on March 31,2003 was

            as follows:                        

                                     Balance sheet of Fish ,Goat and Hen as at March 31,2006

	Liabilities
	Amount

(Rs.)
	Assets
	Amount (Rs.)

	Sundry Creditors
	 22,000
	Fixed Assets
	1,00,000

	Bills Payable
	   8,000
	Stock
	   45,000

	Profit and Loss
	 15,000
	Debtors
	   45,000

	Capital Accounts:
	
	Cash
	   10,000

	Fish                   65,000
	
	
	

	Goat                  50,000
	
	
	

	Hen                   40,000
	1,55,000
	
	

	
	2,00,000
	
	2,00,000


Fish retires on the above date and for this purpose-

          
Goodwill was valued at  Rs.  25,000; Fixed Assets at Rs.1,25000;  Stock was considered worth Rs. 40,000

Fish is to be paid in cash brought in by Goat and Hen in such a way so as to make their capitals proportionate to their

new profit sharing ratio, which is 3:2 respectively. Prepare Revaluation Account, Capital Accounts and the Balance Sheet 

of Goat and Hen.
     



OR




[2+3+3]

   (8)

A, B and C were partners in a firm sharing profits and losses in the ratio of 5:3:2 respectively. 

A died on 28th February, 2006. The Balance sheet on that date was as follows:

	Liabilities
	Amount

(Rs)
	Assets
	Amount

(Rs)

	Capital Account
	
	Goodwill
	12,000

	A
	24000
	Machinery
	70,000

	B
	32,000
	Furniture
	12,000

	C
	24,000
	Stock
	18,000

	General Reserve
	24,000
	Debtors
	30,000

	Creditors
	44,000
	Cash
	6,000


Page (3)

The firm had a joint life policy in the name of all partners, for insured value of Rs.1,20,000. The premium paid on the policy was debited to the profit and loss account. The partnership deed provided that on the death of a partner,

the assets and liabilities are to be revalued.

The assets and liabilities were revalued as follows on A’s death.

(i) Machinery Rs.90,000 and Furniture Rs.14,000.

(ii) A provision of 10% was created for doubtful debts.

(iii) A provision of Rs.30,000 was made  for taxation.

(iv) The goodwill of the firm was valued at Rs.84,000 on A’s death and

(v) The Death claim for the policy was realized in full.

The amount payable to A was transferred to his executors account.

Prepare Revaluation Account, Capital Accounts and the Balance sheet of B and C.
                               [2+3+3]

PART B

Financial Statement Analysis

17. What will be the effect of the following transactions on Gross Profit Ratio if it is 40%.

(i) Wages and Salaries paid Rs.3,000.   (ii) Sales Returns Rs.5,000.




(1)

      18.
      What is the treatment of Proposed dividend while preparing a Cash flow Statement?  



(1)

      19.
       Calculate Cash from Investing Activity from the following information.

	Particulars
	1-1-2007
	31-12-2007

	Investments
	40,000
	33,200



      During the year the Company had sold 40% of its investments at a profit of Rs.10,000. 


(1)          

20. ABC Ltd. Was registered with 1,00,00,000 shares of Rs.10 each. The company invited applications for the issue 

            of 50,00,000 shares of Rs.10 each at 10% premium(payable on allotment). All the shares were duly subscribed 

and amount received except of final call on 2,000 shares @ Rs. 2 per share. The company forfeited these shares

and later reissued 1,500 shares @ Rs.11 each as fully paid up shares.

How these transactions would appear in the Balance Sheet of the company as per Schedule VI, Part I                 (3)

      21.
       From the following information prepare a Comparative Balance sheet.       



             (4)

	Items
	2006

(Rs)
	2007

(Rs)

	Share Capital
	  7,50,000
	  9,00,000

	Fixed Assets
	12,45,000
	11,55,000

	Reserve
	  1,50,000
	  2,25,000

	Current Assets
	  6,00,000
	  8,00,000

	Loans
	  4,20,000
	  3,00,000

	Preliminary Expenses
	     60,000
	     25,000

	Current Liabilities
	  5,85,000
	  5,55,000


22.   (a)  The Current Assets of a company are Rs.17,00,000.Its Current Ratio is 2.50 and Liquid Ratio is 0.95

           Calculate its  Current Liabilities, Liquid Assets and Inventory.                                        

         (b) From the following information, calculate Gross Profit Ratio of Guman iEnterprises:

             Average Stock Rs.80,000;Stock Turnover Ratio 8 Times; Average Debtors Rs.1,00,000;

             Average Debt Collection Period 2 months; Cash sales 25% of net sales.                                              [2+2]         (4) 

23.    Balance Sheets of A and B on 1-1-2006and 31-12-2006 were as follows:

	Liabilities 
	1-1-06
	31-12-06
	Assets
	1-1-06
	31-12-06

	
	  Rs.
	   Rs.
	
	  Rs.
	   Rs.

	Creditors
	   40,000
	   44,000
	Cash 
	  20,000
	   20,000

	Mrs. A’s Loan 
	   25,000
	    _
	Debtors
	  30,000
	   50,000

	Loan from Bank
	   40,000
	   50,000
	Stock 
	  35,000
	   25,000

	Capital
	1,25,000
	 1,53,000
	Machinery 
	  80,000
	   55,000

	Provision for Tax
	   10,000
	   13,000
	Land
	  40,000
	   50,000

	  
	
	
	Building
	  35,000
	   60,000

	
	 2,40,000
	 2,60,000
	
	2,30,000
	2,60,000


           (i)  During the year a machine costing Rs.10,000 (accumulated depreciation Rs. 3,000) was sold for Rs. 5,000.

          (ii)  The provision for depreciation against machinery as on 1st Jan .2005 and 31st December 2005 were

                 of Rs. 25,000  and Rs.40,000.

          (iii)   Tax paid during the year Rs.12,000

              You are required to prepare Cash Flow Statement of A and B for the year ended 31st.December,2006.                    (6)

                                                    ============================

MODEL TEST PAPER 2 (2)               2009

         Class – XII


Subject – Accountancy

M.M.80



Time:3 Hrs.

PART A

Accounting for Not-for-Profit Organizations,Partnership Firms and Companies 

1.   Name the two methods by which the capital accounts of partners are maintained.




(1)

2.   How would you deal with ‘donation’, ‘entrance fee’ while preparing the account of Not-for-Profit Organisations?
(1) 

3.   What is Goodwill? Name two methods of valuing goodwill of a Partnership firm.




(1)

4.   Name two methods of calculating the share of profit of a deceased partner if he dies during the year.

(1)

5.   What are the different methods of redemption of debentures?






(1)

      6.   How would you deal with the following transaction while preparing Income & Expenditure and Balance Sheet:


  (a) Subscription receives as per Receipts & Payments A/C

Rs. 2,50,000


  (b) Subscription outstanding as on 1.4.2007


Rs.    50,000


  (c) Subscription outstanding as on 31.3.2008


Rs.    35,000

              (d) Subscription received in advance as on 1.4.2007


Rs.    25,000


  (e) Subscription received in advance as on 31.3.2008

Rs.    30,000


            (3)

     7-    Ashoka Metals Ltd. purchased sundry assets of Rs.2,02,500 and decided to issue 9% Debentures  to Rama Steel.

    Give necessary journal entries assuming that the ‘price-consideration’ was paid by the issue of :

(i) 1500 Debentures of Rs.100 each 

(ii) 2250 Debentures of Rs. 100 each.                                  



   [1+1+1]          (3)

8-     Earnest and Earnest Ltd issued 20,000 Equity Shares @ Rs.10 each at a premium of 5%. The full amount is payable 

      on application. Applications were received for Rs.30,000 shares and the Board decided to allot the shares on pro-rata. 

       Pass Journal entries.           









(3)

   9-     X,Y and Z are partners sharing P&L equally. Their Capitals as on 31.3.2007 were Rs.1.00.000;  Rs. 80,000 and 

          Rs.70,000 respectively. Their drawings were Rs.30,000; Rs.24,000 and Rs.16,000 respectively. The profit for the year

          ended was Rs.90,000. It was discovered that interest on capital @ 5% p.a. and interest on drawings @5% as provided 

          in the deed was not charged to them. Interest on drawings is charged at an average of 6 months.

         Give an adjustment entry to rectify the above omission.
                    


       (4)

10-    A, B and C are partners sharing profits and losses in the ratio 3:2:1. They admit D as a new partner for 1/4th share.

       D brings Rs.30,000 as his share of  goodwill and Rs.2,00,000 as his Capital. All the partners will share the future

       profits and losses equally. Pass Journal entries.







(4)

11-   Neel Ltd forfeited 120 shares of Mr.Kaushik who applied for 144 shares @ Rs.100 at a premium of Rs.20 for 

      non payment of allotment money Rs.50 (including premium) and first and final call Rs.Rs.30.

      Directors reissued 100 of these shares @ Rs.350 as fully paid. Pass Journal entries for forfeiture & reissue of shares.
(4)

12-    On July, 2003, Mitika Ltd gave notice of its intention to redeem its outstanding Rs.2,00,000,6% Debentures 

      on 31st December, 2007 at a premium of 10% and offered the holders the following options.


(a)
To subscribe for:

i. 10% Preference shares of Rs.100 each at a premium of Rs.25 per share accepted by holders of Rs.50,000 stock.

ii. 14% New Debentures at a discount of 10% accepted by the holders of Rs.90,000 stock.

(b)  To have their holding redeemed for cash if neither of options under (a) was accepted.

Pass Journal entries.






         


            (6)

13- Following is the Receipts & Payments A/C of Army Officer’s Wives Club for the year ended 31st.December,2007:

	Receipts
	Amount
	Payments
	Amount

	Balance b/d

Subscription

Grant for Government

Proceeds from charity show

Interest in investments

( @ 10% p.a. for full year)

Sale of old news papers, scrap etc.


	7,200

81,750

18,000

16,500

 7,000

3,500


1,33,950
	Bank Overdraft

Salary

Stationery

Insurance

Equipments

Charity Show expenses

Lectures & Honorarium

Balance c/d
	7,050

12,500

1,700

7,500

30,000

12,900

30,500

31,800

1,33,950


Additional Information:     As on 1.1.2007   As on 31.12.

Outstanding salaries
1,200

1,800   

Insurance prepaid

   700                    300  

Subscription Outstanding      3,750                  2,500   

Advance Subscription           1,750                  1,000  

          Stock of Stationery

 2,250
                700









          Equipments
            25,600               50,200

Buildings                        1,20,000             1,14,000 





    [3+2+1]    (6)  
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14-A and B are partners sharing profits and losses in the ratio 2:1. Their Balance sheet on 31.3.2006

       was as follows:-

	Liabilities
	Amount(Rs)
	Assets
	Amount

(Rs)

	Creditors
	20,000
	Stock
	20,000

	Bills Payable
	15,000
	Patents
	  2,000

	Reserve Fund
	12,000
	Debtors             40,000

Less. Provision     3,600
	36,400

	Capital:-    A
	40,000
	Building
	25,000

	                B
	30,000
	Machinery
	33,600

	             
	1,17,000
	
	1,17,000


They admitted C into partnership for1/4th share on this date. C brings Proportionate capital 

 after the following adjustments:-

(v) C brings Rs.10,000 in cash as his share of goodwill.

(vi)  Provision for doubtful debts is to be maintained at 10% on Debtors.

(vii) There is an unrecorded old typewriter valued at Rs.7,600. It is now  be recorded.

(viii)  Patents are found valueless.

Pass necessary journal entries at the admission of C.




     


   (6)

15.
Sony Textiles Ltd. invited applications for 50,000 shares @ Rs.10 at a discount of 10% payable as follows:-


On application

Rs. 4
On allotment 

Rs. 3
Balance on first & final call

Applications received for 45,000 shares and these were allotted. A to whom 300 shares were allotted failed to pay allotment money and Call money and B to whom 200 shares were allotted failed to pay the final call. These shares

 were forfeited and reissued at a Premium of Rs.12 per share fully paid. Give journal entries.
   

  (8)

                                                 OR

Maryne Ltd invited applications for 20,000 equity shares of Rs.20 each issued at a premium of Rs.5 per share. 

The amount was payable as follows:-

On Application and Allotment Rs.12 (including premium Rs.3);    On First and final call – balance

Applications for 35000 shares were received. Applications for 5000 shares were rejected. Shares were allotted to the remaining applicants on pro-rata basis as follows:-


Applicants for 20,000 shares were allotted 12,000 shares


Applicants for 10,000 shares were allotted 8,000 shares.

Rishi to whom 300 shares were allotted failed to pay the first and final call and he belonged to the class of shareholders who had applied for 20,000 shares. Rajhans who applied for 500 shares failed to pay the first and final call and he belonged to the category of shareholders who had applied for 10,000 shares. Their shares were forfeited and later reissued @ Rs.25 per share fully paid up. Pass Journal entries in the books of the company.                                       (8)

16.
Fish, Goat and Hen are partners sharing profits in the ratio of 5:3:2 respectively. Balance Sheet on March 31,2003 was

            as follows:                               Balance sheet of Fish ,Goat and Hen as at March 31,2006

	Liabilities
	Amount

(Rs.)
	Assets
	Amount (Rs.)

	Sundry Creditors
	 22,000
	Fixed Assets
	1,00,000

	Bills Payable
	   8,000
	Stock
	   45,000

	Profit and Loss
	 15,000
	Debtors
	   45,000

	Capital Accounts:
	
	Cash
	   10,000

	Fish                   65,000
	
	
	

	Goat                  50,000
	
	
	

	Hen                   40,000
	1,55,000
	
	

	
	2,00,000
	
	2,00,000


Fish retires on the above date and for this purpose-

          
Goodwill was valued at  Rs.  25,000; Fixed Assets at Rs.1,25000;  Stock was considered worth    Rs. 40,000

Fish is to be paid in cash brought in by Goat and Hen in such a way so as to make their capitals proportionate to their

new profit sharing ratio, which is 3:2 respectively. Prepare Revaluation Account, Capital Accounts and 

the Balance Sheet of Goat and Hen.
     

OR




[2+3+3]

   (8)

A, B and C were partners in a firm sharing profits and losses in the ratio of 3:2:1 respectively. A died on 

28th February, 2007. The Balance sheet on that date was as follows:

	Liabilities
	Amoun t(Rs)
	Assets
	Amount (Rs)

	Capital Account
	
	Goodwill
	12,000

	A
	24000
	Machinery
	70,000

	B
	32,000
	Furniture
	12,000

	C
	24,000
	Stock
	18,000

	General Reserve
	24,000
	Debtors
	30,000

	Creditors
	44,000
	Cash
	6,000

	     
	1,48,000
	
	1,48,000


Page (3)

The partnership deed provided that on the death of a partner, the assets and liabilities are to be revalued.

The assets and liabilities were revalued as follows on A’s death.

(i) Machinery Rs.50,000 and Furniture Rs.11,000.

(ii) A provision of 5 % was created for doubtful debts.

(iii) A provision of Rs.3,000 was made  for taxation.

(iv) The goodwill of the firm was valued at Rs.24,000 on A’s death

(v) Rs.5,000 were paid to A’s Executors and balance amount  was transferred to his 

             Executors’ Loan Account.

Prepare Revaluation Account, Capital Accounts and the Balance sheet of B and C.



(8)

PART B

Financial Statement Analysis

17.         What will be the effect of the following transactions on Stock Turn over Ratio if it is 40%.

(ii) Purchase of goods Rs.3,000     (ii) Sales returns Rs.5,000.




(1)

      18.
      What is ‘cash & cash equivalents’?  







(1)

      19.
       Calculate Cash from Financing Activity from the following information.

	Particulars
	1-1-2008
	31-12-2008

	10% Debentures
	40,000
	35,000



      During the year the Company redeemed debentures of Rs.5,000  5% premium.
  

(1)       

20. Draw the specimen of the Balance Sheet showing one imaginary item under each head as per 

Schedule VI, Part I of the Indian Companies Act,1956.





(3)

      21.
       From the following information prepare a Common Size Income Statement of DK Total Ltd.

(4)

	Items
	2006

(Rs)
	2007

(Rs)

	Sales
	  8,00,000
	  9,00,000

	G. P. Ratio
	     20 %
	    25%

	Selling & Distribution expenses
	  40,000
	  55,000

	Office & Admininstrtive Expenses
	  60,000
	  80,000

	Other Non operating Expenses
	  10,000
	  20,000

	Other Non operating Incomes
	   10,000
	  20,000   

	Rate of Income Tax
	    50%
	  50%


   22.      (a)   The current assets and current liabilities of a company are Rs.6,00,000 and Rs.4,00,000


   respectively. The accountant of the firm is interested in paying some current liabilities


   so as to get the ideal current ratio of 2:1.Suggest the amount of liabilities to be paid 


   for this purpose.  

             (b)    From the following information, calculate Gross Profit Ratio of German Enterprises:

                     Average Stock Rs.80,000; Stock Turnover Ratio 6 Times; Average Debtors Rs.1,00,000;

                     Average Debt Collection Period 3 months; Cash sales 10% of net sales.             [2+2]       (4)

   23.
From the following Balance Sheet of Rohit Flour Mills Ltd., prepare a Cash Flow Statement:

	
   Liabilities
	31.3.2005
	31.3.2006
	Assets
	31.3.2005
	31.3.2006

	Capital

General Reserve

Profit & Loss A/C

Bank Loan

Creditors

Outstanding Expenses

Provision For taxation


	4,00,000

1,00,000

   61,000

1,40,000

2,80,000

   20,000

   60,000

10,61,000
	5,00,000

1,20,000

  61,200

    -----

2,60,000

   10,400

   70,000

10,21,600
	Machinery

Debtors

Business Premises

Cash

Stock


	3,00,000

2,00,000

4,00,000

    1,000

1,60,000

10,61,000
	3,38,000

1,48,000

3,80,000

   27,200

1,28,400

10,21,600



   Additional Information:

(i) Dividend paid during the year Rs.40,000.

(ii) Depreciation on machinery written off Rs.28,000.

               (iii)         During the year, a part of the machinery was sold for Rs.20,000.Its original cost was Rs. 12,000 

            
                and depreciation provided on the sold machinery amounted to Rs.1800.                                    (6)                        

                                                    ============================
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